16

(4) (a)
(d)
(9)
(5) (o)
(b)

C)
(e)
(f)
(9)
(h)

240 x 10 = 2400
34022 x 100 = 3402200
37879 % 100 = 3787900

478 % 10 = 4780

6833 x 100 = 683300
7020 x 10 = 7020

56798 x 100 = 5679800
3000 x 100 = 30000

7982 x 10 = 79820
8920300 x 100 = 8920300
q274 x 10 = 927400

(b) 557 x 100 = 55700
(e) 78020 x 100 = 7802000

(h) 3798820 x 10 = 37988200

BISISISINEIS

(c) 389 x 10 =3890
(f) 63300 x 10 = 633000
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(4) (a)
(d)
(9)
()

(3) (a)
(d)
(9)
()

i

388 + 8 = 394

e

46 +39=8

——

34+q=£,__

462 — 19 = 443
47 — 18 =29

47 + 88 = 135
68 + 299 = 367

(b) 34-19=735
(e) Gﬁ—q:ﬂ
(k) 276 -79=197
(b) 78 +9=187
(e) 572 -37=535
(h) 33+109=142
(k) 36 -9=727

(C) 473 -98 = 375
1) 738-47=691

() 582+ 19=4601
(f) 8B +33=990
() 199+199=398
() 382-18=2364
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(’8';’" B (c) First, let’s make an estimate.
(356)=(360)

20)-(20)

360)=( 20 )=(_ 7200 )

Let us find the actual product by usmg the column methed.

ctof( 356 Jand( 24 Jns-k 85“].

So, the produ -
This is close to the estimate of ( 7200 )

rie
So, there ore(— 8544 )pagesin "94 ) dictionaries.
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(f) 132x29= .

4697

(e) 61x77=(

_wﬂ:_ﬂuanus
™m N0 NN
— — 0|00
— ™
ﬁ X +
j-lu?_:.wl.nnvw!.
W NN O
& o
< |~

(h) 93207

(g) 258 x 13

™M I~
o o

q 2 51

@ ™M

uy e

5 O

~ @

M~

88



https://v3.camscanner.com/user/download

89 Problem Solving

(1) Class A Class B:

cookies Class B wil bake.

(204 - ()~ (357 )

Class B will bake
L 252 j more cookies than Class A.

Weneas ..

(81 CamScanner
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2)

(3) Partl

q
$16796 to purchase the chairs.

S

So, the company needs

So the compary e Y —

e e
e e ———
e

- S —
IR

+ 1 3
]

un
MNlo | — W
oo O]~ D

L So, the library will buy 1946 books.

6 5 8 6
X q
5 9 2 7 4

So, the total mass will be 59274 kg.

-

Part2 J

3
5 8
9 0

+

~j|Ov =—
wlos ~N|— @

So, the totq| Cost of the bricks

is $79032.

\
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(4) (@) Howmanynails did he P""w\
| e _ﬂhur?

x 6 7
2 5 g
5 3 ¢
3 3 5 0
* 13 4 9 9
17 2 8 ¢
So, h
| So, he purchased 17286 nqils altogeth
er,

(b‘) If 1 box of nails costs B

9 cents, how much did h

T ———
—

@ spend altogether?

+

nlw o~

5
5

So, he spent $59.63 altogether.

L

(5) (0) H:w much would it cost to buy sandwiches for 187 students?

1 8 7
x q 5
q 3 5
+ 1 6 8 3 0
1 7 7 6 5
So, it will cost $177.65 to buy sandwiches for

L 187 students. .

(b) The teacher gives $200 to poy for the sandwiches. How much change will

she receive?
I

| g

$200 - $177.65 = $22.35

So, she will receive $22.35 change:

L
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Answers

qq

(1) (CI) How much money.did Toby originally receive? $83 1

(b) When Toby shared the money equally, how much did each person receive?
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00

6 (@) =3 =@
B
JOWD)

- ‘ 5

|~

8
4

N NN

®) 32229 g ———

(C) 1‘164&.@

_@)Q2)e o
oD o
3).6

- 09 - &

: ©

I

(d) 25q+7=(37)
o "_'f_ﬂ
7i 2 5 19

-2 |
4 9
4 9

o\

(d) as+52(137)
li]lj@
OJOI00)

-(S
e
}J

(o

Lek-
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(<)

her
swers
i | of theproblem-

(1) (o) Makeamode

T

636 legs
/___ ______ tUbI
BT e B
) ?tbbles
¥
(b) Solve the problem.
( L oL 1
| 4) 6 3 6
| - 4
| 2 3
-2 0
3 6
- 3 6
— 0 -l
Relate the answer to the problem,
fT— e e s —
So, 1 nbe:
- 59 tables can pe made using these legs. ,J
e oo e T il S
/
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@ a model of the problem. \

792 candles

——

F 9 candles per hqxj ........

L [ I:u;xu

(b) Solve the problem.

R

L

(c) Relate the answer to the problem.

(5, 88 boxes can be packed with the candles produced in | du}'._)

@) (a) 1 3 8 (b) 1 5 4
6) 8 2 8 4)6 16
S 11'5
_13]!__ '__2__0_—'—
=% 1 6
P o Sl
= 0
0 8
© 6 7 (d) 1
,)’7’?’?
6) 5 2 2 “o b
_.015 — 1
-0 v L%
BT ~7 0
-4 8 v S
rgs) Wi U5
K — 0
-—-_-——_-—-
0
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3)8 4 3

I
N | o
h -

|

N

~
o|w u{‘-__

|

NN a\.‘___o\

(d) 874 +2

W

o|lOo CJT.____________O LAl

4
2)8
o8

7

v
7
6
1
1

Ol ML ... NN
|

B 1
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r2

0 7

03

1

(d)

. "L & ] 107)

r2
r3

> 2

1

o |l
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/"’"’1/’—’(;) 6 42 T~
5 r
@ (@) — 7) 4 5 0
3) 1 3 6 e
= 4L 5
1 3 e
T —
1 6 o
= “¥ 5 -
1 2
(©) 1 6 6 rl (d) qQ 5 r7
6qu7 q)862
- 6 _0
3 q T
-3 6 e
3 7 —
- 2 £ - 4 5
: 7
_/
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pook practice 4 (page 1 08)

\

(0) 65"'3:@

1

2
3i65
6

20

I

0 5
- 3

—— T

(b) 884—6:%
4

1

o~
(0 0]
o]

I
o~

I
(S I

8
4

A
Also accept 14%.

@)
(d) 762+5 =Gj

1 & 2
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